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ﬁg TREDBBOEILADKES TREFDOHEREEHDKRES TREDOBBOESLADKES TREDHESILEIDKRES
&5 X 4 B | Finh oD EREE ADKRES R 4 TEMNSDKE| H& ADKRES X 4 B | LiImhonks ADKRES R 4 rmhosotkE | B ADKRES
(m) (m) (kN/m) EE &ff (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
7 100kN/m#%#8 % % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/MiZ# 8% % — -~ — —[3mZEBZ 2 -~ — — —
zh st 1.00 | 000 ~ 477 59.50 | =S | 000 ~ 000)1.71 917 Zzh s 1.00 | 5.00 ~ 5.00 59.50 | ThLS | 500 ~ 500|171 917
2 100kN/m#%#8 % % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/Mi%# 8% % — -~ — —[3mZEBZ 2 -~ — — —
zh sk 1001000 ~ 7.75 99.51 | =S | 000 ~ 775|206 11.02 zh st 1.00 | 5.00 ~ 1083 99.561 | TnUSY | 5.00 ~ 1083 | 2.06 11.02
3 100kN/m#%#8 % % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/Mi%# 8% % — -~ — —[3mZEBZ 2 -~ — — —
ThLlst 100|000 ~ 772 99.09 | Fhst | 000 ~ 772|208 11.15 zh st 100|500 ~ 1061 99.09 | TnLSY | 5.00 ~ 1061 2.08 11.15
P 100kN/m#%#8 % % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/Mi%# 8% % — -~ — —[3mZEBZ 2 -~ — — —
zh sk 1.00 | 0.00 ~ 703 89.17 | =S | 000 ~ 703|264 13.60 zh st 1.00 | 5.00 ~ 1061 89.17 | TnLS | 5.00 ~ 1061|254 13.60
5 100kN/m#%#8% % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/MiZ# 8% % — -~ — —[3mZEBZ 2 -~ — — —
zh sk 1.00 | 0.00 ~ 759 97.16 | =S | 000 ~ 759|262 13.48 zh sk 1.00 | 5.00 ~ 1190 97.16 | TnLS | 5.00 ~ 1190 2.52 13.48
6 100kN/m##Z25| 1.00| 000 ~ 0.04 100.64 |3m%&EEZD| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 1065 ~ 10.76| 100.64 |3mEHBZ3 -~ — — —
zh sk 100|004 ~ 783 100.00 | =nAS | 000 ~ 783|227 12.13 zh s 1.00 | 5.00 ~ 1065 100.00 | =nAS | .00 ~ 1076 2.27 12.13
7 100kN/m#§z25| 1.00)| 000 ~ 089 113.30 |3m&xEZB| — ~ — — — [ 100kN/m#Z#Z5 | 1.00 | 1054 ~ 1320 113.30 |3mZEEZD -~ — — —
zh st 1.00 | 089 ~ 867 100.00 | =nAS | 000 ~ 867|217 11.61 zh st 1.00 | 5.00 ~ 1054 100.00 | =nAS | .00 ~ 1320|217 11.61
g 100kN/m##z25| 1.00)| 000 ~ 0.18 102.66 |3m&xEZBH| — ~ — — — [ 100kN/m#%#Z25 | 1.00 | 1072 ~ 1120 102.66 |3mEEZD -~ — — —
zh sk 100|018 ~ 797 100.00 | #nds | 000 ~ 797|229 12.25 zh st 1.00 | 5.00 ~ 10.72 100.00 | #ndS | 6.00 ~ 1120|229 12.25
9 100kN/m##z25| 1.00)| 000 ~ 1.09 116.35 |3m&xEZB| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 1091 ~ 1480 116.35 |3mZEHBZ3 -~ — — —
zh sk 1.00 | 1.09 ~ 887 100.00 | #nds | 000 ~ 887|206 11.03 zh st 1.00 | 5.00 ~ 1091 100.00 | =nUS | 6.00 ~ 1480 | 2.06 11.03
70 100kN/m##z25| 1.00)| 000 ~ 0.70 110.42 |3m%&EBZB| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 1066 ~ 1280 110.42 |3mZEHZ3 -~ — — —
ThLlst 100070 ~ 848 100.00 | ThUs | 000 ~ 848|211 11.29 zh st 100|500 ~ 1066 100.00| Ths | 500 ~ 1280|211 11.29
11 100kN/m#%E#BZ5| 1.00)| 000 ~ 045| 10670 |3mZEBZB| — ~ — — — | 100kN/m%Z#B25 | 1.00 | 11.21 ~ 1250 | 106.70 |3mE#BZ% -~ — — —
ThLlst 100|045 ~ 824 100.00| Thils | 000 ~ 8214|238 12.75 ThLlst 100|500 ~ 1121 100.00 | =hs | 5.00 ~ 1250 2.38 12.75
12 100kN/m#%#BZ5| 1.00)| 000 ~ 016 10239 |3mZEBZB| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 1058 ~ 1100 102.39 |3mZEHBZ3 -~ — — —
zh sk 100|016 ~ 795 100.00 | =S | 000 ~ 795|224 11.97 zh st 1.00 | 5.00 ~ 1058 100.00 | =S | 5.00 ~ 1100|224 11.97
13 100kN/m#%E#BZ5| 100|000 ~ 025| 10362 |3mZEBZZ| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 1055 ~ 1120 103.62 |3mZEHBZ3 -~ — — —
zh sk 100|025 ~ 803 100.00 | =nds | 000 ~ 803|222 11.87 zh sk 1.00 | 5.00 ~ 1055 100.00 | =ndS | .00 ~ 1120|222 11.87
14 100kN/m#%#8% % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/Mi%# 8% % — -~ — —[3mZEBZ 2 -~ — — —
zh sk 1.00 | 0.00 ~ 6.94 87.94 | #hs | 000 ~ 694|173 9.25 zh sk 1.00 | 5.00 ~ 8.60 87.94 | ThLS | 5.00 ~ 860|173 9.25
100kN/m%#8 % % ~ ImERBZ S ~ 100kN/m#%#8Z % ~ ImEHEZD ~
Zh s ~ Zh s ~ ZhLst ~ Zh s ~
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